J. Appl. Math. & Informatics Vol. 40(2022), No. 1 - 2, pp. 341 - 350 https://doi.org/10.14317/jami.2022.341

# ON GENERALIZATION OF BI-PSEUDO-STARLIKE FUNCTIONS

# SHUJAAT ALI SHAH\* AND KHALIDA INAYAT NOOR

ABSTRACT. We introduce certain subclasses of bi-univalent functions related to the strongly Janowski functions and discuss the Taylor-Maclaurin coefficients  $|a_2|$  and  $|a_3|$  for the newly defined classes. Also, we deduce certain new results and known results as special cases of our investigation.

AMS Mathematics Subject Classification : 30C45, 30C50. *Key words and phrases* : Analytic functions, bi-univalent functions, strongly Janowski functions, bounded variation, Taylor-Maclaurin coefficient.

## 1. Introduction

An analytic function f in the open unit disk  $\mathcal{U} = \{z : |z| < 1\}$  with

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \tag{1}$$

is said to be in the class  $\mathcal{A}$ . We denote by  $\mathcal{S}, \mathcal{S}^*$  and  $\mathcal{P}$  the classes of functions  $f \in \mathcal{A}$  that are univalent, starlike and Carathodory functions, respectively, in  $\mathcal{U}$ .

We say that f is subordinate to g, written  $f \prec g$  or  $f(z) \prec g(z)$ , if there exists a Schwartz function w in  $\mathcal{U}$  such that f(z) = g(w(z)). In addition, if  $g \in \mathcal{S}$ , then  $f(z) \prec g(z)$  if and only if f(0) = g(0) and  $f(\mathcal{U}) \subseteq g(\mathcal{U})$ . Using the concept of subordination, Janowski [8] introduced the class  $\mathcal{P}[A, B]$  of analytic functions psuch that  $p(z) \prec (1 + Az) / (1 + Bz)$ , for  $-1 \leq B < A \leq 1, z \in \mathcal{U}$ .

Let p be analytic in  $\mathcal{U}$  with p(0) = 1. Then  $p \in \mathcal{P}_{\alpha}[A, B]$ , if and only if,

$$p(z) \prec \left(\frac{1+Az}{1+Bz}\right)^{\alpha}, \quad \alpha \in (0,1], \ -1 \le B < A \le 1, \ z \in \mathcal{U}.$$

where  $p_1, p_2 \in \mathcal{P}[A, B]$ . Furthermore, let  $p \in \mathcal{P}_{m,\alpha}[A, B]$ , if and only if,

Received January 31, 2021. Revised April 22, 2021. Accepted April 27, 2021.  $\ ^* {\rm Corresponding}$  author.

 $<sup>\</sup>odot$  2022 KSCAM.

$$p(z) = \left(\frac{m}{4} + \frac{1}{2}\right)p_1(z) - \left(\frac{m}{4} - \frac{1}{2}\right)p_2(z),$$

where  $p_1, p_2 \in \mathcal{P}_{\alpha}[A, B]$  and  $m \geq 2$ .

Particularly, for  $\alpha = 1$  the class  $\mathcal{P}_{m,\alpha}[A, B]$  coincides with the class  $\mathcal{P}_m[A, B]$ introduced in [14], whereas, for  $\alpha = 1$ ,  $A = 1 - 2\beta$  and B = -1, the class  $\mathcal{P}_{m,\alpha}[A, B]$  reduces to the class  $\mathcal{P}_m(\beta)$  of analytic univalent functions p, normalized with p(0) = 1 and satisfying

$$\int_0^{2\pi} \left| \frac{\Re(p(z)) - \beta}{1 - \beta} \right| d\theta \le m\pi,$$

where  $m \geq 2, \beta \in [0, 1)$  and  $z \in \mathcal{U}$ , we refer to [15]. Moreover, for  $\beta = 0$ , we have the class  $\mathcal{P}_m(0) = \mathcal{P}_m$ , introduced by Pinchuk [16]. Furthermore, for m = 2 we have well known class  $\mathcal{P}$  of Caratheodory functions. Also, we note that, when m = 2, A = 1 and B = -1, then  $p \in P_{2,\alpha}[1, -1]$  implies  $|\arg p(z)| \leq \frac{\alpha \pi}{2}$ .

It is well known by Koebe one quarter theorem [7] that the image of  $\mathcal{U}$  under every function  $f \in \mathcal{S}$  contains a disc of radius 1/4. Thus every univalent function f has an inverse  $f^{-1}$  satisfying

$$f^{-1}(f(z)) = z, \quad (z \in \mathcal{U})$$

and

$$f(f^{-1}(w)) = w, \quad (|w| < r_0(f), \ r_0(f) \ge 1/4).$$

The following is the series expansion of the inverse of f, (we say,  $g(w) = f^{-1}(w)$ ),  $g(w) = f^{-1}(w) = w - a_2w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2a_3 + a_4)w^4 + \dots$  (2) A function  $f \in S$  is said to be bi-univalent in  $\mathcal{U}$  if there exists a function  $g \in S$ 

such that g(z) is an univalent extension of  $f^{-1}$  to  $\mathcal{U}$ . We denote by  $\sum$  the class of bi-univalent in  $\mathcal{U}$ . The functions  $\frac{z}{1-z}$ ,  $-\log(1-z)$  and  $\frac{1}{2}\log\left(\frac{1+z}{1-z}\right)$  are in the class  $\sum$ ; see [18]. However, the familiar Koebe function is not bi-univalent. Various classes of bi-univalent functions were introduced and studied in recent times, the study of bi-univalent functions gained momentum mainly due to the work of Srivastava et al. [18]. Many researchers [1, 2, 3, 4, 5, 6, 9, 11, 12, 13] recently investigated several interesting subclasses of the class  $\sum$  and found non-sharp estimates on the first two Taylor-Maclaurin coefficients.

Motivated by the work on bi-univalent functions in [11], we define a new subclass  $\sum \mathcal{B}_{[A,B]}^{\gamma,\lambda,\alpha}(m,\mu)$  and determine the bounds for initial Taylor-Maclaurin coefficients of  $|a_2|$  and  $|a_3|$  for  $f \in \sum \mathcal{B}_{[A,B]}^{\gamma,\lambda,\alpha}(m,\mu)$ .

**Definition 1.1.** A function  $f \in \sum$  is said to be in the class  $\sum \mathcal{B}_{[A,B]}^{\gamma,\lambda,\alpha}(m,\mu)$  if the following conditions are satisfied

$$1 + \frac{1}{\gamma} \left[ \frac{z \left( f'(z) \right)^{\lambda}}{\left( 1 - \mu \right) z + \mu f(z)} - 1 \right] \in \mathcal{P}_{m,\alpha} \left[ A, B \right], \quad (z \in \mathcal{U})$$

and

$$1 + \frac{1}{\gamma} \left[ \frac{z \left( g'\left( w \right) \right)^{\lambda}}{\left( 1 - \mu \right) w + \mu g\left( w \right)} - 1 \right] \in \mathcal{P}_{m,\alpha} \left[ A, B \right], \quad \left( w \in \mathcal{U} \right),$$

where  $-1 \leq B < A \leq 1$ ,  $m \geq 2$ ,  $\lambda \geq 1$ ,  $\alpha \in (0, 1]$ ,  $\mu \in [0, 1]$  and  $\gamma \in \mathbb{C} \setminus \{0\}$ , and g(w) is given by (2).

Special cases:

(i) We note that, for  $\gamma = 1$  we get a new class  $\sum \mathcal{B}_{[A,B]}^{1,\lambda,\alpha}(m,\mu) = \sum \mathcal{B}_{[A,B]}^{\lambda,\alpha}(m,\mu)$  of functions  $f \in \sum$  satisfying the following two conditions

$$\frac{z\left(f'\left(z\right)\right)^{\lambda}}{\left(1-\mu\right)z+\mu f\left(z\right)} \in \mathcal{P}_{m,\alpha}\left[A,B\right], \quad (z \in \mathcal{U})$$

and

$$\frac{z\left(g'\left(w\right)\right)^{\lambda}}{\left(1-\mu\right)w+\mu g\left(w\right)} \in \mathcal{P}_{m,\alpha}\left[A,B\right], \quad \left(w \in \mathcal{U}\right),$$

where  $-1 \leq B < A \leq 1$ ,  $m \geq 2$ ,  $\lambda \geq 1$ ,  $\mu \in [0, 1]$  and  $\alpha \in (0, 1]$ , and g(w) is given by (2).

(ii) For  $\alpha = \gamma = 1$ , we obtain a new class  $\sum \mathcal{B}_{[A,B]}^{1,\lambda,1}(m,\mu) = \sum \mathcal{B}_{[A,B]}^{\lambda}(m,\mu)$  of functions  $f \in \sum$  such that

$$\frac{z\left(f'\left(z\right)\right)^{\lambda}}{\left(1-\mu\right)z+\mu f\left(z\right)} \in \mathcal{P}_{m}\left[A,B\right], \quad (z \in \mathcal{U})$$

and

$$\frac{z\left(g'\left(w\right)\right)^{\lambda}}{\left(1-\mu\right)w+\mu g\left(w\right)} \in \mathcal{P}_{m}\left[A,B\right], \quad \left(w \in \mathcal{U}\right),$$

where  $-1 \leq B < A \leq 1$ ,  $m \geq 2$ ,  $\mu \in [0, 1]$  and  $\lambda \geq 1$ , and g(w) is given by (2). (iii) For m = 2 and  $\gamma = 1$ , we obtain a new class  $\sum \mathcal{B}^{1,\lambda,\alpha}_{[A,B]}(2,\mu) = \sum \mathcal{B}^{\lambda,\alpha}_{[A,B]}(\mu)$ 

(iii) For m = 2 and  $\gamma = 1$ , we obtain a new class  $\sum \mathcal{D}_{[A,B]}(2,\mu) = \sum \mathcal{D}_{[A,B]}(2,\mu)$  of functions  $f \in \sum$  such that

$$\frac{z\left(f'\left(z\right)\right)^{\lambda}}{\left(1-\mu\right)z+\mu f\left(z\right)} \in \mathcal{P}_{\alpha}\left[A,B\right], \quad (z \in \mathcal{U})$$

and

$$\frac{z\left(g'\left(w\right)\right)^{\lambda}}{\left(1-\mu\right)w+\mu g\left(w\right)} \in \mathcal{P}_{\alpha}\left[A,B\right], \quad \left(w \in \mathcal{U}\right),$$

where  $-1 \leq B < A \leq 1$ ,  $\alpha \in (0,1]$ ,  $\mu \in [0,1]$  and  $\lambda \geq 1$ , and g(w) is given by (2).

(iv) For  $\gamma = \alpha = 1$ ,  $A = 1 - 2\beta$  and B = -1, we get the class  $\sum \mathcal{B}^{\lambda}(m, \mu)$  introduced in [11].

(v) For  $\gamma = \alpha = \mu = 1$ , m = 2,  $A = 1 - 2\beta$  and B = -1, we get the class  $\sum \mathcal{B}^{\lambda}(\beta)$  introduced in [10].

(vi) For  $\gamma = \mu = 1$ , m = 2, A = 1 and B = -1, we get the class  $\sum \mathcal{B}^{\lambda}(\alpha)$  introduced in [10].

### 2. Main Results

The following lemmas are required to prove our investigations.

**Lemma 2.1.** [17] Let  $q(z) = 1 + \sum_{n=1}^{\infty} q_n z^n$  be subordinate to  $Q(z) = \sum_{n=1}^{\infty} Q_n z^n$ . If Q(z) is univalent in  $\mathcal{U}$  and  $Q(\mathcal{U})$  is convex, then

$$|q_n| \leq |Q_1|$$
, for  $n \geq 1$ .

The following lemma can be easily proved by using Lemma 2.1 along with the definition of  $\mathcal{P}_{\alpha}[A, B]$ .

**Lemma 2.2.** Let  $p \in \mathcal{P}_{\alpha}[A, B]$  with  $p(z) = 1 + \sum_{n=1}^{\infty} p_n z^n$ . Then, for  $\alpha \in (0, 1]$ ,  $-1 \le A < B \le 1$  and  $n \ge 1$ ,

$$|p_n| \le \alpha (A - B)$$
, for  $n \ge 1$ .

**Lemma 2.3.** Let  $m \ge 2$ ,  $\alpha \in (0,1]$ ,  $-1 \le A < B \le 1$  and let  $p \in \mathcal{P}_{m,\alpha}[A,B]$ with  $p(z) = 1 + \sum_{n=1}^{\infty} p_n z^n$ . Then

$$|p_n| \le \frac{m\alpha}{2} \left(A - B\right), \text{ for } n \ge 1.$$

*Proof.* This proof is straight forward by using Lemma 2.2 along with the definition of  $\mathcal{P}_{m,\alpha}[A, B]$ .

**Theorem 2.4.** Let  $f \in \sum \mathcal{B}_{[A,B]}^{\gamma,\lambda,\alpha}(m,\mu)$  be given by (1). Then

$$|a_{2}| \leq \min\left\{\sqrt{\frac{m\alpha (A-B) |\gamma|}{2 [2\lambda^{2} + \lambda (1-2\mu) - \mu (1-\mu)]}}; \frac{m\alpha (A-B) |\gamma|}{2 (2\lambda - \mu)}\right\}$$

and

$$|a_{3}| \leq \min \left\{ \begin{array}{c} \frac{m\alpha(A-B)|\gamma|}{2(3\lambda-\mu)} + \frac{m\alpha(A-B)|\gamma|}{2[2\lambda^{2}+\lambda(1-2\mu)-\mu(1-\mu)]};\\ \frac{m\alpha(A-B)|\gamma|}{2(3\lambda-\mu)} \left[ 1 + \frac{m\alpha(A-B)|\gamma|\{2\lambda^{2}-2\lambda(\mu+1)+\mu^{2}\}}{2(2\lambda-\mu)^{2}} \right];\\ \frac{m\alpha(A-B)|\gamma|}{2(3\lambda-\mu)} \left[ 1 + \frac{m\alpha(A-B)|\gamma|\{2\lambda^{2}+(2\lambda-\mu)(2-\mu)\}}{2(2\lambda-\mu)^{2}} \right] \end{array} \right\},$$

with  $-1 \leq B < A \leq 1$ ,  $m \geq 2$ ,  $\lambda \geq 1$ ,  $\alpha \in (0,1]$ ,  $\mu \in [0,1]$  and  $\gamma \in \mathbb{C} \setminus \{0\}$ . Moreover,

$$|a_3 - \vartheta a_2| \le \frac{m\alpha \left(A - B\right) |\gamma|}{2 \left(3\lambda - \mu\right)},$$

where  $\vartheta = \frac{2\lambda^2 + (2\lambda - \mu)(2 - \mu)}{(3\lambda - \mu)}$ .

*Proof.* Let  $f \in \sum \mathcal{B}_{[A,B]}^{\gamma,\lambda}(m,\phi)$  be given by (1). Then there exists two analytic functions  $p, q \in \mathcal{P}_{m,\alpha}[A, B]$  with

$$p(z) = 1 + p_1 z + p_2 z^2 + \dots$$
(3)

344

and

$$q(w) = 1 + q_1 w + q_2 w^2 + \dots$$
(4)

such that

$$1 + \frac{1}{\gamma} \left[ \frac{z \left( f'(z) \right)^{\lambda}}{(1-\mu) z + \mu f(z)} - 1 \right] = p(z)$$
(5)

and

$$1 + \frac{1}{\gamma} \left[ \frac{z \left( g'(w) \right)^{\lambda}}{(1-\mu) w + \mu g(w)} - 1 \right] = q(w), \tag{6}$$

where g(w) is given by (2).

On the other hand

$$1 + \frac{1}{\gamma} \left[ \frac{z \left( f'(z) \right)^{\lambda}}{(1-\mu) z + \mu f(z)} - 1 \right] = 1 + \frac{(2\lambda - \mu)}{\gamma} a_2 z + \frac{1}{\gamma} \left[ \left\{ 2\lambda^2 - 2\lambda \left(\mu + 1\right) + \mu^2 \right\} a_2^2 + (3\lambda - \mu) a_3 \right] z^2 + \dots$$
(7)

and

$$1 + \frac{1}{\gamma} \left[ \frac{z \left( g'(w) \right)^{\lambda}}{(1-\mu) w + \mu g(w)} - 1 \right] = 1 - \frac{(2\lambda - \mu)}{\gamma} a_2 w + \frac{1}{\gamma} \left[ \left\{ 2\lambda^2 + (2\lambda - \mu) \left( 2 - \mu \right) \right\} a_2^2 - (3\lambda - \mu) a_3 \right] w^2 + \dots \quad (8)$$

From (3), (4), (7) and (8) comparing the coefficients of  $z, w, z^2$  and  $w^2$ , we obtain

$$\frac{(2\lambda - \mu)}{\gamma}a_2 = p_1 \tag{9}$$

$$\frac{1}{\gamma} \left[ \left\{ 2\lambda^2 - 2\lambda \left(\mu + 1\right) + \mu^2 \right\} a_2^2 + (3\lambda - \mu) a_3 \right] = p_2 \tag{10}$$

$$-\frac{(2\lambda-\mu)}{\gamma}a_2 = q_1 \tag{11}$$

and

$$\frac{1}{\gamma} \left[ \left\{ 2\lambda^2 + (2\lambda - \mu) \left(2 - \mu\right) \right\} a_2^2 - (3\lambda - \mu) a_3 \right] = q_2.$$
 (12)

From (9) and (11), we can write

$$a_2 = \frac{\gamma p_1}{(2\lambda - \mu)} = -\frac{\gamma q_1}{(2\lambda - \mu)}.$$
(13)

From Lemma 2.3, it follows that

$$|a_2| \le \frac{m\alpha \left(A - B\right) |\gamma|}{2 \left(2\lambda - \mu\right)}.\tag{14}$$

Adding (10) and (12), we get

$$\left\{4\lambda^{2}+2\lambda\left(1-2\mu\right)-2\mu\left(1-\mu\right)\right\}a_{2}^{2}=\gamma\left(p_{2}+q_{2}\right),$$

by applying Lemma 2.3 and simple calculations yields

$$|a_2| \le \sqrt{\frac{m\alpha \left(A - B\right) |\gamma|}{2 \left[2\lambda^2 + \lambda \left(1 - 2\mu\right) - \mu \left(1 - \mu\right)\right]}}.$$
(15)

Subtracting (10) from (12) to get

$$a_3 = \frac{\gamma (p_2 - q_2)}{2 (3\lambda - \mu)} + a_2^2.$$

Now, employing Lemma 2.3 and (14), we obtain

$$|a_{3}| \leq \frac{m\alpha \left(A - B\right)|\gamma|}{2 \left(3\lambda - \mu\right)} + \frac{m\alpha \left(A - B\right)|\gamma|}{2 \left[2\lambda^{2} + \lambda \left(1 - 2\mu\right) - \mu \left(1 - \mu\right)\right]}.$$
 (16)

On making use of (9) and (10), we can easily find

$$|a_{3}| \leq \frac{m\alpha \left(A - B\right)|\gamma|}{2 \left(3\lambda - \mu\right)} \left[1 + \frac{2m\alpha \left(A - B\right)|\gamma| \left\{2\lambda^{2} - 2\lambda \left(\mu + 1\right) + \mu^{2}\right\}}{4 \left(2\lambda - \mu\right)^{2}}\right].$$
 (17)

Again, by using (9) and (12), we finally obtain

$$|a_{3}| \leq \frac{m\alpha \left(A - B\right)|\gamma|}{2\left(3\lambda - \mu\right)} \left[1 + \frac{2m\alpha \left(A - B\right)|\gamma| \left\{2\lambda^{2} + (2\lambda - \mu)\left(2 - \mu\right)\right\}}{4\left(2\lambda - \mu\right)^{2}}\right].$$
(18)

From (12), we can write

$$\frac{2\lambda^2 + (2\lambda - \mu) \left(2 - \mu\right)}{(3\lambda - \mu)} a_2^2 - a_3 = \frac{\gamma q_2}{(3\lambda - \mu)}$$

By employing Lemma 2.3, this implies

$$|a_3 - \vartheta a_2| = \left|\frac{\gamma q_2}{(3\lambda - \mu)}\right| \le \frac{m\alpha \left(A - B\right)|\gamma|}{2\left(3\lambda - \mu\right)},\tag{19}$$

,

where  $\vartheta = \frac{2\lambda^2 + (2\lambda - \mu)(2 - \mu)}{(3\lambda - \mu)}$ . Hence, the inequalities (14) to (19) follows our required proof.

We note that for specializing the parameters, as mentioned in special cases (i)-(iii) of Definition 1.1, we deduce the following new results.

**Corollary 2.5.** Let  $f \in \sum \mathcal{B}_{[A,B]}^{\lambda,\alpha}(m,\mu)$  be given by (1). Then

$$|a_2| \le \min\left\{\sqrt{\frac{m\alpha \left(A-B\right)}{2\left[2\lambda^2 + \lambda \left(1-2\mu\right) - \mu \left(1-\mu\right)\right]}}; \frac{m\alpha \left(A-B\right)}{2\left(2\lambda-\mu\right)}\right\}$$

and

$$|a_{3}| \leq \min \left\{ \begin{array}{c} \frac{m\alpha(A-B)}{2(3\lambda-\mu)} + \frac{m\alpha(A-B)}{2[2\lambda^{2}+\lambda(1-2\mu)-\mu(1-\mu)]};\\ \frac{m\alpha(A-B)}{2(3\lambda-\mu)} \left[ 1 + \frac{m\alpha(A-B)\left\{2\lambda^{2}-2\lambda(\mu+1)+\mu^{2}\right\}}{2(2\lambda-\mu)^{2}} \right];\\ \frac{m\alpha(A-B)}{2(3\lambda-\mu)} \left[ 1 + \frac{m\alpha(A-B)\left\{2\lambda^{2}+(2\lambda-\mu)(2-\mu)\right\}}{2(2\lambda-\mu)^{2}} \right] \end{array} \right\}$$

346

with  $-1 \leq B < A \leq 1$ ,  $m \geq 2$ ,  $\lambda \geq 1$ ,  $\alpha \in (0, 1]$  and  $\mu \in [0, 1]$ . Moreover,

$$|a_3 - \vartheta a_2| \le \frac{m\alpha \left(A - B\right)}{2\left(3\lambda - \mu\right)},$$

where  $\vartheta = \frac{2\lambda^2 + (2\lambda - \mu)(2 - \mu)}{(3\lambda - \mu)}$ .

**Corollary 2.6.** Let  $f \in \sum \mathcal{B}^{\lambda}_{[A,B]}(m,\mu)$  be given by (1). Then

$$|a_2| \le \min\left\{\sqrt{\frac{m(A-B)}{2[2\lambda^2 + \lambda(1-2\mu) - \mu(1-\mu)]}}; \frac{m(A-B)}{2(2\lambda-\mu)}\right\}$$

and

$$a_{3}| \leq \min \left\{ \begin{array}{c} \frac{m(A-B)}{2(3\lambda-\mu)} + \frac{m(A-B)}{2[2\lambda^{2}+\lambda(1-2\mu)-\mu(1-\mu)]};\\ \frac{m(A-B)}{2(3\lambda-\mu)} \left[ 1 + \frac{m(A-B)\{2\lambda^{2}-2\lambda(\mu+1)+\mu^{2}\}}{2(2\lambda-\mu)^{2}} \right];\\ \frac{m(A-B)}{2(3\lambda-\mu)} \left[ 1 + \frac{m(A-B)\{2\lambda^{2}+(2\lambda-\mu)(2-\mu)\}}{2(2\lambda-\mu)^{2}} \right] \end{array} \right\},$$

with  $-1 \leq B < A \leq 1$ ,  $m \geq 2$ ,  $\lambda \geq 1$  and  $\mu \in [0, 1]$ . Moreover,

$$|a_3 - \vartheta a_2| \le \frac{m \left(A - B\right)}{2 \left(3\lambda - \mu\right)},$$

where  $\vartheta = \frac{2\lambda^2 + (2\lambda - \mu)(2 - \mu)}{(3\lambda - \mu)}$ .

**Corollary 2.7.** Let  $f \in \sum \mathcal{B}_{[A,B]}^{\lambda,\alpha}(\mu)$  be given by (1). Then

$$|a_2| \le \min\left\{\sqrt{\frac{\alpha \left(A-B\right)}{\left[2\lambda^2 + \lambda \left(1-2\mu\right) - \mu \left(1-\mu\right)\right]}}; \frac{\alpha \left(A-B\right)}{\left(2\lambda-\mu\right)}\right\}$$

and

$$a_{3}| \leq \min \left\{ \begin{array}{c} \frac{\alpha(A-B)}{(3\lambda-\mu)} + \frac{\alpha(A-B)}{[2\lambda^{2}+\lambda(1-2\mu)-\mu(1-\mu)]};\\ \frac{\alpha(A-B)}{(3\lambda-\mu)} \left[ 1 + \frac{\alpha(A-B)\{2\lambda^{2}-2\lambda(\mu+1)+\mu^{2}\}}{(2\lambda-\mu)^{2}} \right];\\ \frac{\alpha(A-B)}{(3\lambda-\mu)} \left[ 1 + \frac{\alpha(A-B)\{2\lambda^{2}+(2\lambda-\mu)(2-\mu)\}}{(2\lambda-\mu)^{2}} \right] \end{array} \right\},$$

with  $-1 \leq B < A \leq 1$ ,  $\lambda \geq 1$ ,  $\alpha \in (0,1]$  and  $\mu \in [0,1]$ . Moreover,

$$|a_3 - \vartheta a_2| \le \frac{\alpha \left(A - B\right)}{\left(3\lambda - \mu\right)},$$

where  $\vartheta = \frac{2\lambda^2 + (2\lambda - \mu)(2 - \mu)}{(3\lambda - \mu)}$ .

Taking  $A = 1 - 2\beta$  and B = -1 in Corollary 2.6, we obtain the following result proved in [11].

**Corollary 2.8.** Let  $f \in \sum \mathcal{B}^{\lambda}(m,\mu)$  be given by (1). Then

$$|a_{2}| \leq \min\left\{\sqrt{\frac{m(1-\beta)}{[2\lambda^{2} + \lambda(1-2\mu) - \mu(1-\mu)]}}; \frac{m(1-\beta)}{(2\lambda - \mu)}\right\}$$

and

$$|a_{3}| \leq \min \left\{ \begin{array}{c} \frac{m(1-\beta)}{(3\lambda-\mu)} + \frac{m(1-\beta)}{[2\lambda^{2}+\lambda(1-2\mu)-\mu(1-\mu)]};\\ \frac{m(1-\beta)}{(3\lambda-\mu)} \left[ 1 + \frac{m(1-\beta)\{2\lambda^{2}-2\lambda(\mu+1)+\mu^{2}\}}{(2\lambda-\mu)^{2}} \right];\\ \frac{m(1-\beta)}{(3\lambda-\mu)} \left[ 1 + \frac{m(1-\beta)\{2\lambda^{2}+(2\lambda-\mu)(2-\mu)\}}{(2\lambda-\mu)^{2}} \right] \end{array} \right\},$$

with  $\beta \in [0,1)$ ,  $m \ge 2$ ,  $\lambda \ge 1$  and  $\mu \in [0,1]$ . Moreover,

$$|a_3 - \vartheta a_2| \le \frac{m\left(1 - \beta\right)}{(3\lambda - \mu)}$$

where  $\vartheta = \frac{2\lambda^2 + (2\lambda - \mu)(2 - \mu)}{(3\lambda - \mu)}$ .

If we set  $\mu = 1$  and m = 2 in the previous corollary, we deduce the following. Corollary 2.9. Let  $f \in \sum \beta^{\lambda}(\beta)$  be given by (1). Then

$$|a_2| \le \min\left\{\sqrt{\frac{2(1-\beta)}{\lambda(2\lambda-1)}}; \frac{2(1-\beta)}{2\lambda-1}\right\}$$

and

$$|a_{3}| \leq \min \left\{ \begin{array}{c} \frac{2(1-\beta)}{(3\lambda-1)} + \frac{2(1-\beta)}{\lambda(2\lambda-1)};\\ \frac{2(1-\beta)}{(3\lambda-1)} \left[ 1 + \frac{2(1-\beta)\left\{2\lambda^{2}-4\lambda+1\right\}}{(2\lambda-1)^{2}} \right];\\ \frac{2(1-\beta)}{(3\lambda-1)} \left[ 1 + \frac{2(1-\beta)\left(2\lambda^{2}+2\lambda-1\right)}{(2\lambda-1)^{2}} \right]; \end{array} \right\},$$

with  $\beta \in [0,1)$  and  $\lambda \geq 1$ . Moreover,

$$|a_3 - \vartheta a_2| \le \frac{2\left(1-\beta\right)}{3\lambda - 1},$$

where  $\vartheta = \frac{2\lambda^2 + (2\lambda - 1)}{(3\lambda - 1)}$ .

Taking  $m = 2, \ \mu = 1, \ A = 1$  and B = -1 in Corollary 2.5, we get the following.

**Corollary 2.10.** Let  $f \in \sum \mathcal{B}^{\lambda}(\alpha)$  be given by (1). Then

$$|a_2| \le \min\left\{\sqrt{\frac{2\alpha}{\lambda(2\lambda-1)}}; \frac{2\alpha}{2\lambda-1}\right\}$$

348

and

$$|a_3| \le \min \left\{ \begin{array}{c} \frac{2\alpha}{(3\lambda-1)} + \frac{2\alpha}{\lambda(2\lambda-1)};\\ \frac{2\alpha}{(3\lambda-1)} \left[ 1 + \frac{2\alpha\{2\lambda^2 - 4\lambda + 1\}}{(2\lambda-1)^2} \right];\\ \frac{2\alpha}{(3\lambda-1)} \left[ 1 + \frac{2\alpha(2\lambda^2 + 2\lambda - 1)}{(2\lambda-1)^2} \right]; \end{array} \right\},$$

with  $\lambda \geq 1$  and  $\alpha \in (0,1]$ . Moreover,

$$|a_3 - \vartheta a_2| \le \frac{2\alpha}{3\lambda - 1},$$

where  $\vartheta = \frac{2\lambda^2 + 2\lambda - 1}{3\lambda - 1}$ .

**Remark 2.1.** The estimates obtained in the Corollary 2.9 and Corollary 2.10 are the improvements of the estimates proved by the authors, as Theorem 1 and Theorem 2, in [10].

# 3. Conclusion

The main aim of this paper is to estimate the Taylor-Maclaurin coefficients  $|a_2|$  and  $|a_3|$  for the subclass of analytic functions associated with generalized strongly Janowski functions. Several new and known results are derived from our main investigations.

#### References

- E.A. Adegani, A. Motamednezhad and S. Bulut, Coefficient estimates for a subclass of meromorphic bi-univalent functions defined by subordination, Stud. Univ. Babeş-Bolyai Math. 65 (2020), 57-66.
- A. Akgul, Certain inequalities for a general class of analytic and bi-univalent functions, Sahand Commun. Math. Anal. 14 (2019), 1-13.
- Ş. Altinkaya and S. Yalçin, Coefficient problem for certain subclasses of bi-univalent functions defined by convolution, Math. Moravica 20 (2016), 15-21.
- M.K. Aouf, S.M. Madian and A.O. Mostafa, Bi-univalent properties for certain class of Bazilevic functions defined by convolution and with bounded boundary rotation, J. Egypt. Math. Soc. 27 (2019), 1-9.
- D. Bansal and J. Sokól, Coefficient bound for a new class of analytic and bi-univalent functions, J. Fract. Cal. Appl. 5 (2014), 122-128.
- S. Bulut, A new general subclass of analytic bi-univalent functions, Turk. J. Math. 43 (2019), 1330-1338.
- P.L. Duren, Univalent Functions, Grundlehren der Mathematischen Wissenschaften, 259, Springer, New York, 1983.
- W. Janowski, Some extremal problems for certain families of analytic functions, Ann. Polon. Math. 28 (1973), 297-326.
- S. Joshi, Ş. Altinkaya and S. Yalçin, Coefficient estimates for Salagean type λ-bi-pseudostarlike functions, KYUNGPOOK Math. J. 57 (2017), 613-621.
- S. Joshi, S. Joshi and H. Pawar, On some subclasses of bi-univalent functions associated with pseudo-starlike functions, J. Egypt. Math. Soc. 24 (2016), 522-525.
- Y. Li, K. Vijaya, G. Murugusundaramoorthy and H. Tang, On new subclasses of bi-starlike functions with bounded boundary rotation, AIMS Math. 5 (2020), 3346-3356.

- G. Murugusundaramoorthy and T. Bulboaca, Estimate for initial MacLaurin coefficients of certain subclasses of bi-univalent functions of complex order associated with the Hohlov operator, Ann. Univ. Paedagog. Crac. Stud. Math. 17 (2018), 27-36.
- G. Murugusundaramoorthy, S. Yalçin and Ş. Altinkaya, Fekete-Szegö inequalities for subclass of bi-univalent functions associated with Salagean type q-difference operator, Afrika Math. 30 (2019), 979-987.
- K.I. Noor, Some radius of convexity problems for analytic functions of bounded boundary rotation, Punjab Univ. J. Math. 21 (1988), 71-81.
- K. Padmanabhan and R. Parvatham, Properties of a class of functions with bounded boundary rotation, Ann. Polon. Math. 31 (1975), 311-323.
- 16. B. Pinchuk, Functions with bounded boundary rotation, Isr. J. Math. 10 (1971), 7-16.
- W. Rogosinski, On the coefficients of subordinate functions, Proc. Lond. Math. Soc. 51 (1975), 109-116.
- H.M. Srivastava, A.K. Mishra, and P. Gochhayat, Certain subclasses of analytic and biunivalent functions, Appl. Math. Lett. 23 (2010), 1188-1192.

Shujaat Ali Shah is Assistant Professor at Department of Mathematics and Statistics, Quaid-i-Awam University of Engineering, Science and Technology, Nawabshah, Pakistan. He has recently completed Ph.D. degree under the kind supervision of co-author of this article. His field of interest is Geometric Function Theory. Shujaat Ali shah has published 10 research articles in reputed international journals of mathematical and engineering sciences.

Quaid-i-Awam University of Engineering, Science and Technology, Nawabshah, Pakistan. e-mail: shahglike@yahoo.com

Khalida Inayat Noor is Eminent Professor at COMSATS University Islamabad, Pakistan. She obtained her Ph.D. in Geometric Function Theory(Complex Analysis)from Wales University(Swansea), (UK). She has a vast experience of teaching and research at university levels in various countries including Iran, Pakistan, Saudi Arabia, Canada and United Arab Emirates. She was awarded HEC best research award in 2009 and CIIT Medal for innovation in 2009. She has been awarded by the President of Pakistan: Presidents Award for pride of performance on August 14, 2010 for her outstanding contributions in Mathematical Sciences. Her field of interest and specialization is Complex analysis, Geometric function theory, Functional and Convex analysis. She has been personally instrumental in establishing Ph.D./M.S. programs at CUI. Prof. Dr. Khalida Inayat Noor has supervised successfully more than 28 Ph.D. students and 46 M.S./M.Phil students. She has published more than 730 research articles in reputed international journals of mathematical and engineering sciences.

Department of Mathematics, COMSATS University, Islamabad, Pakistan. e-mail: khalidan@gmail.com